Inverse of Linear Functions

The procedure for finding the inverse of a linear function is fairly basic.

1. Switch “x” and “y”.
2. Solve for “y”.

Example: Find the inverse ( f _l(x)) of f(x)= 4-6x : Thismeans y = 4—76x , SO
switch “x”” and “y”: x=4_T6y.Now, solve back fory: 7e x = 4-6y o7
Tx—4 +6y Tx—4 -1
X y "6 76 5 VTS ™
Find f -1 (x) of each linear function.
L fx)=4x=5 2. f(x)=2 3 f)=2244 4 fory=20
6 5 4
4x+7 3 8—3x -3x+4
5. X) = 6. f(x)=12—=x 7. f(x)= 8. f(x)=
f(x) > f(x) 2 f(x) T f(x) 9
3x 9x — 15x-13 7.6x+3.2
9. =— 10. = 11. = 12. = T
f(x) 7 Jx)=— f(x) X f(x) Y
13, fy=2F3 g, f(x)=6x_516 15. f(x)z_x;I 16. f(x)=9->5x




Answers: 1. £l =""2 2 fly=6x 3. f—l(x):S(x_z“‘) 4, f_l(x)=4x—2+5
s =27 f_l(x):4(x_—3l2) . f_l(x):13ic;8

1, _—9%—-4 O9x+4 - :7_x 1 :—8x+1
8. /== 9 T = 10 T =

L 21x+13 L. 85x-32 L Tx=5
17w =" T 1370 ==
14. f_l(x)=_5x6+16 15. f N x)=2x—1 16. f_l(x)zx—_Sg



